e

FILT IR HE P S
BN =55 B 3}

— & (101~122) ,

FH_ I HE
BB, F=K

ey
R38R

4%

—~§§§#ﬁ=%1&Mﬁﬁﬁ%s%ﬁlﬁﬁﬁﬁ4% B4 2MEHAG 2 5 B4
FR2MA LM BAKF A RARFLELHHEUAESHE)

1, 2.

3.

(A)(D)E) (B)O)

(C)D)E)

—BAB AT (HREY MASREARNHNERBILERMG )

¢y, (B) © (D)
% mZZEXE‘mS*% V26 +242 9
(E) (F) (6) (D
%? 17 (-3,-2,36) a1
(D @) (K) (L)
27,-17,-1 3x=4y+9=0 +2y-T=0 2,
(27,~17,-1) $x-9=0 x+2y-T= X +y —13x-8y+27=0
= ~RAB(E10 )
(1) | (A)
olf] X EALRE 0 £ A40,0) ~ B2,0) ~ C(-1,1) » AABC b8y O
ABoy ¥ ER TR L x=1 (15) y
0+( D0+l ~11 /,r;;/
w AC i b E— 2 2) %,2 (147) //7
g
ﬂﬁ«%ACéﬁﬁﬁL$%i—0=*l a4 S
@) |, — o L gl B ™~
SCAC By ‘}’i%‘f’tfﬁiﬁ:}’_a—l [x (_2‘)] / ) \B )
— x—yz—l (2 ﬁ) A D 2
=] =
ﬁ?ﬁ{x ,zs-{x Loheow) as
x—y=-1 Vi 2
FiR=A40=\1-00+2-07 =5 (2E) @24




